$$X(t) = A \sin \left(\frac{2\pi}{T} t\right)$$

$$\frac{2\pi}{T} = \omega$$

$$X = A_1 \sin \left(B_1 t\right) \quad A_7 = 0.045 B_1 = 6.09$$

$$V = A_2 \sin \left(B_2 t\right) \quad A_2 = 0.26 B_2 = 6.09$$

$$\alpha = A_3 \sin \left(B_3 t\right) \quad A_3 = 1.49 B_3 = 6.09$$

$$X = A \sin \left(\omega t\right)$$

$$V = \omega A \cos \left(\omega t\right)$$

$$V = \omega A \cos \left(\omega t\right)$$

$$\Delta = -\omega^2 X$$

$$\omega^2 = \frac{K}{M} \quad \omega = 1 \frac{K}{M} \quad \text{spring} \quad \text{constant}$$

$$U = 2 \frac{\pi}{T}$$

$$T = \frac{2\pi}{T}$$

$$T = \frac{2\pi}{T}$$

$$T = \frac{2\pi}{T}$$

Etotal =
$$U_S + K$$

= $\frac{1}{2} k x^2 + \frac{1}{2} m v^2$
= $\frac{1}{2} k (A \sin(\omega t))^2 + \frac{1}{2} m (\omega A \cos(\omega t))^2$
= $\frac{1}{2} k A^2 \sin^2(\omega t) + \frac{1}{2} m (\frac{1}{2} M A^2 \cos^2(\omega t))$
= $\frac{1}{2} k A^2 \sin^2(\omega t) + \frac{1}{2} k A^2 \cos^2(\omega t)$
= $\frac{1}{2} k A^2 (\sin^2(\omega t) + \cos^2(\omega t))$
Etot = $\frac{1}{2} k A^2$
When we first stretch the spring
Etot = $U_S = \frac{1}{2} k A^2$
 $M = x = \frac{1}{2} k A^2$